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9 & 10 (2 points) Constructed Response9 & 10 (2 points) Constructed Response

                           Math MadnessMath Madness # 1
1. Jada counted 3,896 jellybeans in a jar. Which of
     the following shows the number of jellybeans
     written in word form?

   a.  thirty-eight thousand, ninety-six
     b.  three and eight hundred ninety-six
         c.  three thousand, eight hundred ninety-sixc.  three thousand, eight hundred ninety-six
     d.  thirty-eighty ninety-six

2. This is the money from Freddie’s pocket. How
     much money does Freddie have?

     a.  61¢
     b.  62¢
     c.  66¢c.  66¢
     d.  86¢

Paige picked these number cards. Her teacher has asked her to create a number using each digit only once.  

What is the largest 4-digit number she can make?  _________________ 

What is the value of the 6 in that number? __________________

What is Paige’s number rounded to the nearest hundred? __________________

               8,630               8,630

600600

                            8,600                            8,600

3.  Joe has a collection of baseball cards. He got 65 
     more cards for his birthday. Now Joe has 232
     cards. How many baseball cards did Joe have 
     before his birthday? 

     a.  167 a.  167 
     b.  173
     c.  243
     d.  297

6.  Use the word bank to 
     complete the sentence. 

The distance around a polygon is called the 

______________, and the number of square units 

needed to completely cover a flat surface is called  

the _______________.

perimeterperimeter

areaarea

Word BankWord Bank
 

product  area  sumproduct  area  sum
perimeterperimeter    massmass

7. This picture graph shows the number of touchdowns 
     scored by three football teams. If the Lions scored
     8 touchdowns, how many touchdowns does each 
     football (      ) represent?

     a.  1       
     b.  2b.  2
     c.  3     
     d.  4 

8.  Tanner made this number pattern.

6,  13 ,   20,  27,  6 ,  13 ,   20,  27,  ________
              
     If his pattern continues in the same way, what 
     number will come next? 

     a.  33               c.  34c.  34
     b.  28               d.  35

5.  Which of the following is the best estimate for the 
     amount of milk in a bowl of cereal?

     a.  1 cup  a.  1 cup 
     b.  1 quart
     c.  1 gallon
     d.  1 liter

4.  There are 2 trees. Each tree has 6 owls. Which 
     model represents the total number of owls?

     a.a.                                        c. 

     b.                                        d.   
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